A compact 2 cell dipole-only lattice
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2 Cell Dipole-only Lattice: 4° Wedges
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2 Cell Dipole-only Lattice: 100 atmos. H», Gas
250 MeV/c ; Half-aperture 15 cm
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2 Cell Dipole-only Lattice with Ho Gas
250 MeV/c ; Half-aperture 15 cm
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A 4 cell wedge dipole lattice
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4 Cell Wedge Dipole Lattice: 100 atmos. Hy, Gas
250 MeV/c ; Half-aperture 15 cm
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4 Cell Wedge Dipole Lattice: 100 atmos. Ho Gas
250 MeV/c ; Half-aperture 25/15 cm
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A 6 cell wedge dipole lattice
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Merit/Normalized Emittance

6-cell wedge dipole lattice
100 atmos H» gas filled
Performance at 250 MeV/c
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(RMS Px)**2 , (MeV/c)**2
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Invariant Emittance

5'0 atmos +

100 atmos X

1.6 150 atmos X

O ‘ ] ] ]
0 200 400 600

Path Length, m






